PARTIE 6 - normale

Coup TIRAGE SOLUTION PLACE | SCORE
1 |HVOAQOA
2 |00Q+UXAE HAVA H5 | 20
3 [AOOQ+AL? EAUX 6G | 33
4 |AALOO+AT Q() oc | 26
5 [AAO+SENR TOLA 10H | 17
6 |A+EICLSI AERONS F1 26
7 [?KCMIUR CISELAI L8 79
8 [IMU+NERS KRAC(H) 1D | 75
9 |GIEBYTS MINEURS 15F | 88
10 [BEG+LTMO YETIS 11K | 50
11 [GLM+RNOO BOITE 14) | 38
12 |-DTEAERE KONGO D1 | 30
13 |EAGTFFE DERATEES | 04 | 83
14 |[T+NWERUV GAFFEE M3 | 32
15 [NUW+ORSI VITREE N10 | 30
16 [INOR+DZzB WUS 6B | 48
17 |BDI+LEHE ZONARD 4] 32
18 [BDEHL+PN RIE N4 | 19
19 [BLN+MEIP EPHOD KL | 22
20 [BEN+LLJI EMPLI 1K | 30
21 [IJL+TIVE NOBEL 19 19
22 [EILT+MDA JUIN 3A | 22
23 [ILMT+UNA DEJA Al | 39
24 [AILN+SU MUT 7a | 19
25 [AILN us sA | 27
26 |AIL NAY K9 14
IL 7J 13
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